

Solution of some irregular functional equations and their stability

Y. Sayyari^{a,*}, M. Dehghanian^a, Sh. Nasiri^b

^aDepartment of Mathematics, Sirjan University of Technology, P. O. Box 78137-33385, Sirjan, Iran.

^bDepartment of Computer Engineering, Sirjan University of Technology
P. O. Box 78137-33385, Sirjan, Iran.

Received 1 November 2022; Revised 23 December 2022, Accepted 27 December 2022.

Communicated by Ghasem Soleimani Rad

Abstract. In this note, we study the following functional equations:

$$\begin{aligned}L(L(p, r) + L(q, r) + p + q, r) + L(L(p, r) + p, r) + L(q, r) &= 0, \\L(L(p, r) + p + q + e, r) + L(p, r) &= L(p + q, r) + pL(q, r),\end{aligned}$$

and $L(p, q) = L(\zeta p, q)$, $|\zeta| < 1$, without any regularity assumption for all $p, q, r \in A$, where $L : A^2 \rightarrow A$ is defined by $L(p, q) := g(p+q) - g(p) - g(q)$ for all $p, q \in A$. Also, we find general solutions of the above functional equations on algebras, unital algebras and real numbers, respectively. Finally, we investigate the stability of those functional equations in algebras and unital algebras, respectively.

Keywords: Additive functional equation, unital algebra, Hyers-Ulam stability.

2010 AMS Subject Classification: 47B47, 17B40, 39B72, 47H10.

1. Introduction

The stability theory of functional equations started from a problem of Ulam [16], concerning the stability of group homomorphisms. Hyers [7] answered Ulam's question on Banach spaces in 1941 about additive mappings, which was an important step towards more solutions in this field. Rassias [14] presented a generalization of Hyers' Theorem which lets the Cauchy difference to be unbounded.

*Corresponding author.

E-mail address: y.sayyari@sirjantech.ac.ir (Y. Sayyari); mdehghanian@sirjantech.ac.ir (M. Dehghanian); nasiri.shahram88@gmail.com (Sh. Nasiri).

The theory of stability is an main branch of the theory of differential equations. During the last thirty years interesting results have been investigated on different types of functional equations (see [8, 9, 12]).

The direct method presented by Hyers [7] is the most important and useful tool to study the stability of several functional equations. The other important method is fixed point alternative theorem, that is, the exact solution of the functional equation is explicitly constructed as a fixed point of some certain map (see [11]).

In the 21st century, number of works have been published on different extensions and applications of the stability to a number of functional inequalities and mappings, for instance, Cauchy type functional equation, differential equations and generalized orthogonality mappings (see [1, 10]).

In recent years, the stability of different (others functional, differential and integral) equations and other subjects has been intensively studied (see [2–6, 15]).

Assume that X and Y are vector spaces. A mapping $D : X \rightarrow Y$ is named additive if it satisfies $D(p + q) = D(p) + D(q)$ for all $p, q \in X$.

Theorem 1.1 [7] Let X be a real vector space and Y be a Banach space. If a mapping $\sigma : X \rightarrow Y$ satisfies

$$\|\sigma(p + q) - \sigma(p) - \sigma(q)\| \leq \epsilon$$

for some $\epsilon > 0$ and for all $p, q \in X$, then there exists a unique additive mapping $D : X \rightarrow Y$ such that $\|\sigma(p) - D(p)\| \leq \epsilon$ for all $p \in X$.

Theorem 1.2 [5] Suppose that H is an Abelian group and X is a Banach space. In addition, assume that $\psi : H \times H \rightarrow [0, \infty)$ is a function such that

$$\Psi(p, q) = \sum_{k=0}^{\infty} 2^{-k} \psi(2^k p, 2^k q) < \infty$$

for all $p, q \in H$. If a mapping $\sigma : H \rightarrow X$ satisfies

$$\|\sigma(p + q) - \sigma(p) - \sigma(q)\| \leq \psi(p, q)$$

for any $p, q \in H$, then there exists a unique additive mapping $D : H \rightarrow X$ with

$$\|\sigma(p) - D(p)\| \leq \frac{1}{2} \Psi(p, q)$$

for all $p \in H$. Furthermore, if $\sigma(tp)$ is continuous in t for any fixed p in H , then D is a linear mapping.

The essential goal of this note is to present the general solutions of the following functional equations

$$L(L(p, r) + L(q, r) + p + q, r) + L(L(p, r) + p, r) + L(q, r) = 0, \quad (1)$$

$$L(L(p, r) + p + q + e, r) + L(p, r) = L(p + q, r) + pL(q, r) \quad (2)$$

and

$$L(p, q) = L(\zeta p, q), \quad |\zeta| < 1 \quad (3)$$

without any regularity assumption for all $p, q, r \in A$, where $L : A^2 \rightarrow A$ is defined by

$$L(p, q) := g(p + q) - g(p) - g(q)$$

for all $p, q \in A$. Finally, we investigate the stability of (1), (2) and (3) in algebras and unital algebras, respectively.

2. General solution of (1), (2) and (3)

In this section, we study the general solutions of (1), (2) and (3) without any regularity condition.

Theorem 2.1 Let A be an algebra. The mapping $g : A \rightarrow A$ satisfies the functional equation (1) for all $p, q, r \in A$ if and only if g is additive.

Proof. It is clear that additivity implies (1). Conversely, we assume that g satisfying (1), and we shall show that g is additive. Suppose that g is any function satisfying (1). Letting $r = 0$ in (1), we obtain $g(0) = 0$, because $L(p, 0) = -g(0)$ for all $p \in A$.

Putting $q = 0$ in (1), we get

$$L(L(p, r) + p, r) = 0 \tag{4}$$

for all $p, r \in A$. Setting $p = 0$ in (1), we have

$$L(L(q, r) + q, r) + L(q, r) = 0 \tag{5}$$

for all $q, r \in A$. Replacing q by p in (5), we obtain

$$L(L(p, r) + p, r) + L(p, r) = 0 \tag{6}$$

for all $p, r \in A$. It follows from (4) and (6) that $L(p, r) = 0$ for all $p, q, r \in A$. Hence $g(p + r) = g(p) + g(r)$ for all $p, r \in A$. ■

Lemma 2.2 [13] Let A be complex Banach algebra and $f : A \rightarrow A$ be an additive mapping such that $f(\lambda p) = \lambda f(p)$ for all $\lambda \in \mathbb{T}^1$ and all $p \in A$. Then f is linear over \mathbb{C} .

Theorem 2.3 Let A be a unital algebra and $g : A \rightarrow A$ be a mapping. Then g is linear if and only if

$$L_\mu(L_\mu(p, r) + L_\mu(q, r) + p + q, r) + L_\mu(L_\mu(p, r) + p, r) + L_\lambda(q, r) = 0 \tag{7}$$

for all $p, q, r \in A$ and all $\lambda, \mu \in \mathbb{T}^1$, where $L_\lambda(p, q) := g(\lambda(p + q)) - \lambda g(p) - \lambda g(q)$.

Proof. It is clear that linearity implies (7). Conversely, assume that g satisfies (7), we shall show that g is linear. Setting $\lambda = \mu = 1$ in (7) and by Theorem 2.1, we conclude that g is additive. Letting $\mu = 1$ in (7), we arrive that

$$L(L(p, r) + L(q, r) + p + q, r) + L(L(p, r) + p, r) + L_\lambda(q, r) = 0 \tag{8}$$

for all $p, q, r \in A$ and all $\lambda \in \mathbb{T}^1$. Suppose that g is any mapping satisfying (8). Then setting $r = 0$ in (8), we obtain $L_\lambda(q, 0) = 0$ for all $q \in A$ and all $\lambda \in \mathbb{T}^1$, because g is

additive. Therefore, $g(\lambda q) = \lambda g(q)$ for all $q \in A$ and all $\lambda \in \mathbb{T}^1$. Hence by Lemma 2.2 g is linear. ■

Theorem 2.4 Let A be a unital algebra. The mapping $g : A \rightarrow A$ satisfies the functional equation (2) for all $p, q, r \in A$ if and only if g is additive.

Proof. It is clear that additivity implies (2). Conversely, we assume that g satisfying (2), and we shall show that g is additive. Suppose that g is any function satisfies (2). Setting $r = 0$ (2), we obtain $g(0) = 0$, since $L(p, 0) = -g(0)$ for all $p \in A$. Set $q = 0$ in (2), we get

$$L(L(p, r) + p + e, r) = 0 \quad (9)$$

for all $p, r \in A$. Next, let $p = 0$ in (9), we obtain $L(e, r) = 0$ for all $r \in A$. On the other hand, put $p = -q = e$ in (2), we get

$$L(L(e, r) + e, r) + L(e, r) = L(-e, r)$$

and thus, $L(-e, r) = 0$ for all $r \in A$, because $L(e, r) = 0$. Therefore, by letting $p = -e$ in (2), we have

$$L(q - e, r) = 2L(q, r) \quad (10)$$

for all $r \in A$. On the other hand, taking $p = 0$ and replacing q by $q - e$ in (2), we obtain

$$L(q - e, r) = L(q, r) \quad (11)$$

for all $r \in A$. Together, (10) and (11) yield $L(q, r) = 0$ for all $q, r \in A$. Thus g is additive. ■

Theorem 2.5 Let A be a unital algebra and $g : A \rightarrow A$ be a mapping. Then g is linear if and only if

$$L(L(p, r) + p + q + e, r) + L_\lambda(p, r) = L(p + q, r) + pL(q, r) \quad (12)$$

for all $p, q, r \in A$ and all $\lambda \in \mathbb{T}^1$, where $L_\lambda(p, q) = g(\lambda(p + q)) - \lambda g(p) - \lambda g(q)$.

Proof. It is clear that linearity implies (12). We assume that g satisfying (12), and we shall show that g is linear. It is clear that for $\lambda = 1$ and using Theorem 2.4 we conclude that g is additive. Suppose that g is any function satisfying (12). Then setting $p = 0$ in (12), we obtain

$$L_\lambda(q, r) = 0 \quad (13)$$

for all $q, r \in A$ and all $\lambda \in \mathbb{T}^1$. Now putting $r = 0$ in (13), we get $g(\lambda q) = \lambda g(q)$ for all $q \in A$ and all $\lambda \in \mathbb{T}^1$, because g is additive. Hence by Lemma 2.2 g is linear. ■

Theorem 2.6 Let $g : \mathbb{R} \rightarrow \mathbb{R}$ be a continuous mapping with $g(0) = 0$. Then g is linear if and only if g satisfying (3).

Proof. It is evident that linearity implies (3). Conversely, assume that there exists

$\zeta(|\zeta| < 1)$ such that $L(p, q) = L(\zeta p, q)$ for all $p, q \in \mathbb{R}$. Thus,

$$g(p + q) + g(\zeta p) = g(p) + g(\zeta p + q) \tag{14}$$

for all $p, q \in \mathbb{R}$. Claim: Let n be a natural number. Then

$$g(p + q) + g(\zeta^n p) = g(p) + g(\zeta^n p + q) \tag{15}$$

for all $p, q \in \mathbb{R}$.

Proof of Claim: The proof can be done by applying method induction. By (14) the base of induction for $n = 1$ holds. Now, we suppose that the inequality (15) holds to $n < k + 1$. So

$$g(p + q) + g(\zeta^k p) = g(p) + g(\zeta^k p + q) \tag{16}$$

for all $p, q \in \mathbb{R}$. By replayingcing p by $\zeta^k p$ in (14), we get

$$g(\zeta^k p + q) + g(\zeta^{k+1} p) = g(\zeta^k p) + g(\zeta^{k+1} p + q) \tag{17}$$

Upon adding (16) and (17), we obtain

$$g(p + q) + g(\zeta^{k+1} p) = g(p) + g(\zeta^{k+1} p + q)$$

for all $p, q \in \mathbb{R}$. Thus (15) holds for all n and all $p, q \in \mathbb{R}$. Therefore,

$$g(p + q) + \lim_{n \rightarrow \infty} g(\zeta^n p) = g(p) + \lim_{n \rightarrow \infty} g(\zeta^n p + q)$$

for all $p, q \in \mathbb{R}$. Since $g(0) = 0$ and g is continuous, we have $g(p + q) = g(p) + g(q)$ for all $p, q \in \mathbb{R}$. Hence by Theorem 1.2 g is a linear mapping. ■

3. Stability of (1), (2) and (3)

In this section, we show the Hyers-Ulam stability of equations (1) and (2).

For a given mapping $g : A \rightarrow A$, we define

$$\Delta g(p, q, r) := L(L(p, r) + L(q, r) + p + q, r) + L(L(p, r), r) + L(q, r)$$

and for $A = \mathbb{R}$ and if A is a unital algebra define

$$\Gamma g(p, q, r) := L(L(p, r) + p + q + e, r) + L(p, r) - L(p + q, r) - pL(q, r)$$

for all $p, q, r \in A$.

Theorem 3.1 Let A be an algebra and $g : A \rightarrow A$ be a mapping with $g(0) = 0$ and satisfies

$$\begin{cases} L(L(p, r) + L(q, r) + p + q, r) = 0 \\ |\Delta g(p, q, r)| \leq \delta. \end{cases}$$

Then there exists a unique additive mapping $D : A \rightarrow A$ such that $|g(p) - D(p)| \leq \delta$ for all $p \in A$.

Proof. Since $L(L(p, r) + L(q, r) + p + q, r) = 0$, $g(0) = 0$ and $|\Delta g(p, q, r)| \leq \delta$, set $p = 0$ in $|\Delta g(p, q, r)| \leq \delta$, we obtain $L(L(0, r), r) = L(-g(0), r) = L(0, r) = -g(0) = 0$ and thus $|L(q, r)| \leq \delta$ for all $q, r \in A$. Thus by Hyer's Theorem 1.1, there exists a unique additive map $D : A \rightarrow A$ such that $|g(p) - D(p)| \leq \delta$ for all $p \in A$. ■

Theorem 3.2 Let $g : \mathbb{R} \rightarrow \mathbb{R}$ be a mapping satisfying

$$\begin{cases} L(L(p, r) + p + q + e, r) = 0 \\ |\Gamma g(p, q, r)| \leq \delta. \end{cases}$$

Then there exist a unique additive mapping $D : \mathbb{R} \rightarrow \mathbb{R}$ such that $|g(p) - D(p)| \leq \delta + |g(0)|$ for all $p \in \mathbb{R}$.

Proof. Since $L(L(p, r) + p + q + e, r) = 0$ and $|\Gamma g(p, q, r)| \leq \delta$, set $p = 0$ in $|\Gamma g(p, q, r)| \leq \delta$, we obtain $|L(q, r) + g(0)| \leq \delta$ for all $q, r \in \mathbb{R}$. Therefore, $|L(q, r)| \leq \delta + |g(0)|$. Thus, by Hyer's Theorem 1.1, there exists a unique additive map $D : \mathbb{R} \rightarrow \mathbb{R}$ such that $|g(p) - D(p)| \leq \delta + |g(0)|$ for all $p \in \mathbb{R}$. ■

Theorem 3.3 Let $\zeta \in \mathbb{R}$ with $|\zeta| < 1$, $g : \mathbb{R} \rightarrow \mathbb{R}$ be a continuous mapping with $g(0) = 0$ and $\psi : \mathbb{R}^2 \rightarrow [0, \infty)$ be a function such that $\Psi(p, q) = \sum_{j,k=0}^{\infty} 2^{-k} \psi(\zeta^j 2^k p, 2^k q) < \infty$ and

$$|g(p + q) + g(\zeta p) - g(p) - g(\zeta p + q)| \leq \psi(p, q) \tag{18}$$

for all $p, q \in \mathbb{R}$. Then there exists a linear mapping $D : \mathbb{R} \rightarrow \mathbb{R}$ such that

$$|g(p) - D(p)| \leq \frac{1}{2} \Psi(p, p) \tag{19}$$

for all $p \in \mathbb{R}$.

Proof. Let n be a natural number. We first claim

$$|g(p + q) + g(\zeta^n p) - g(p) - g(\zeta^n p + q)| \leq \sum_{j=0}^{n-1} \psi(\zeta^j p, q) \tag{20}$$

for all $p, q \in \mathbb{R}$. We verify it by induction on n . By (18) the base of induction for $n = 1$ holds. Next, we suppose that the inequality (20) holds for $n < k + 1$. So

$$|g(p + q) + g(\zeta^k p) - g(p) - g(\zeta^k p + q)| \leq \sum_{j=0}^{k-1} \psi(\zeta^j p, q) \tag{21}$$

for all $p, q \in \mathbb{R}$. Replacing p by $\zeta^k p$ in (18), we get

$$|g(\zeta^k p + q) + g(\zeta^{k+1} p) - g(\zeta^k p) - g(\zeta^{k+1} p + q)| \leq \psi(\zeta^k p, q). \tag{22}$$

Upon adding (21) and (22), we obtain

$$|g(p+q) + g(\zeta^{k+1}p) - g(p) - g(\zeta^{k+1}p+q)| \leq \sum_{j=0}^k \psi(\zeta^j p, q) \quad (23)$$

for all $p, q \in \mathbb{R}$. Thus (20) holds for all n and all $p, q \in \mathbb{R}$. Therefore,

$$\lim_{n \rightarrow \infty} |g(p+q) + g(\zeta^n p) - g(p) - g(\zeta^n p+q)| \leq \lim_{n \rightarrow \infty} \sum_{j=0}^{n-1} \psi(\zeta^j p, q)$$

for all $p, q \in \mathbb{R}$. Since $g(0) = 0$ and g is continuous, we have

$$|g(p+q) - g(p) - g(q)| \leq \sum_{j=0}^{\infty} \psi(\zeta^j p, q)$$

for all $p, q \in \mathbb{R}$. Thus, By Theorem 1.2 there exists a linear mapping $D : \mathbb{R} \rightarrow \mathbb{R}$ such that satisfying (19). ■

Acknowledgments

The authors are grateful to anonyme reviewers for their useful comments and suggestions.

References

- [1] C. Baak, Cauchy-Rassias stability of Cauchy-Jensen additive mappings in Banach spaces, *Acta Math. Sin.* 22 (2006), 1789-1796.
- [2] M. Dehghanian, S. M. S. Modarres, Ternary γ -homomorphisms and ternary γ -derivations on ternary semi-groups, *J. Inequal. Appl.* (2012), 2012:34.
- [3] M. Dehghanian, S. M. S. Modarres, C. Park, D. Y. Shin, C^* -Ternary 3-derivations on C^* -ternary algebras, *J. Inequal. Appl.* (2013), 2013:124.
- [4] M. Dehghanian, C. Park, C^* -Ternary 3-homomorphisms on C^* -ternary algebras, *Results. Math.* 66 (2014), 87-98.
- [5] P. Gavruta, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, *J. Math. Anal. Appl.* 184 (1994), 431-436.
- [6] Y. Guan, M. Feckan, J. Wang, Periodic solutions and HyersUlam stability of atmospheric Ekman flows, *Discrete Contin. Dyn. Syst.* 41 (3) (2021), 1157-1176.
- [7] D. H. Hyers, On the stability of the linear functional equation, *Proc. Natl. Acad. Sci. U.S.A.* 27 (1941), 222-224.
- [8] D. H. Hyers, G. Isac, Th. M. Rassias, *Stability of Functional Equations in Several Variables*, Birkhäuser, Basel, 1998.
- [9] G. Isac, Th. M. Rassias, On the Hyers-Ulam stability of ψ -additive mappings, *J. Approx. Theory.* 72 (1993), 131-137.
- [10] A. Najati, J. R. Lee, C. Park, Th. M. Rassias, On the stability of a Cauchy type functional equation, *Demonstr. Math.* 51 (2018), 323-331.
- [11] C. Park, An additive (α, β) -functional equation and linear mappings in Banach spaces, *J. Fixed Point Theory Appl.* 18 (2016), 495-504.
- [12] C. Park, The stability of an additive (ρ_1, ρ_2) -functional inequality in Banach spaces, *J. Math. Inequal.* 13 (1) (2019), 95-104.
- [13] C. Park, H. Wee, Homomorphisms between Poisson Banach algebras and Poisson brackets, *Honam Math. J.* 26 (2004), 61-75.
- [14] Th. M. Rassias, On the stability of the linear mapping in Banach spaces, *Proc. Amer. Math. Soc.* 72 (2) (1978), 297-300.
- [15] Y. Sayyari, M. Dehghanian, C. Park, J. R. Lee, Stability of hyper homomorphisms and hyper derivations in complex Banach algebras, *AIMS.* 7 (6) (2022), 10700-10710.
- [16] S. M. Ulam, *A Collection of the Mathematical Problems*, Interscience Publication, New York, 1960.